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] 6000 C.M. Nazov Plocha
H % A1.01 |ZADVERIE 5.07 m2
[ A1.02 |cHopeA 7.24 m2
; FHT |'|][||'|'| A1.03 |izBA 12.51 m2
] [INN U] A1.04 [KUPELNA 7.02m2
] A1.05 |IZBA 16.68 m2
1 A1.06 JOBYVACKA, JEDALEN, KUCHYNA |35.38 m2
H A1.07 |KUPELNA 4.47 m2
i A1.08 |SPALNA 14.01 m2
i A1.09 |SATNIK 3.36 m2
[ A1.10 [sKLAD 6.7 m2
H A1.11 |TECHNICKA MIESTNOST 0.30 m2
| £ 112.89 m2
i i - spevnené ploch
1 1 CM. Nézov Plocha
[ | [ | A1.12 [TERASA 14.89 m2
H H A1.13 |ZAVETRIE 7.03 m2
| | | | A1.14 |CHODNIK 6.00 m2
i RD tvo A1 i A1.15 |PARKOVACIE STATIE 2250 m2
yp 5042 m2



